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= 6,992,958
= 9,296
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01 2284 22,000 22,000 0
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09 HALAMHIXI &3 2,900 2,900 0
ONHEZEH FUANEH WX AHEAZ 2,900
OAN = 70,0003 * 209 » 1« 1,400
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307 21201 A 28,712 28,712 0
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OXHSZEEALY 19,400, 000& 19,400
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< 2,000
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01 M3IBZE 063 100,000 100,000 0
OMddIlol FEA M =0 100,000, 000& 100,000
Jl| 90,000
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Al 448,980
O£dIOIE HEAY XI& 43,960,000 43,960
= 21,980
< 6,594
Al 15,386
OHME - A2 2582 = 96,834 93,256 3,578
101 @124l 55,034 52,541 2,493
4 JI12ZHZEXNSES 55,034 52,541 2,493
ONtdEsE E5d RY 49,590
OPIR-= 79,470% * 8F * 262 * 3 49,590
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OXIAEE 1,701,000& * 11.52% 196
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OMITEESE 49,590,000& = 1.00% 496
201 et | 2,700 2,615 85
01 AFR 2t 2| H| 2,700 2,615 85
OOMSAE 25 ol B4
70,000& * 10002 700
ORNtMsS=2 ot &2 =
100& = 10,0000H 1,000
OOMESE HoHEAAMR/ARS EHAE4H
100,0008 = 5% * 23| 1,000
206 T2 HI 8,100 8,100 0
01 24l 8,100 8,100 0
O0tMES=E PXRAEH| 8,100
oOsJt0l € 5& 2,000,000 2,000
OfRoMsE EXNLEDINILM S)
34,0008 * 15004 5,100
OtMs=2 90| 200,000 * 5= 1,000
301 et A= 31,000 30,000 1,000
12 JIEtE A& 2 31,000 30,000 1,000
O0MEs XS AH B4 31,000
OFX 5 Hg OH 50,000& = 56024 28,000
O&ss & HdH 0] oA 25,0008 = 1204 3,000
OhA S 2 TII GH Ol 2 ALY 210,000 200,932 9,068
= 70,000
= 21,000
Al 119,000
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= 70,000
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Al 119,000
01 BIZtXIEANYE X (KM ) 70,000 70,000 0
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70,000,000 70,000
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50,000& = 1004 = 123 6,000
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Al 56,000
301 LEd = 80,000 85,840 A5,840
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Al 56,000
12 JIEHE &= 80,000 85,840 A5,840
OOt ESES 0l 28 Iol =24 80,000,000& 80,000
< 24,000
Al 56,000
Ot == OoHYXE X 244,860 218,511 26,349
< 43,980
Al 200,880
201 Let24E] 47,260 40,170 7,090
< 6,000
Al 41,260
01 At 22l 25,000 26,170 A1,170
OROIMsSE 28 &g
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Al 153,620
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OME N H et M= &l X 15,000,000 15,000
= 7,500
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101 2121 ] 332,859 327,000 5,859
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OAAS 224G (UBHE)
10,952& = 702 * 30Al2F = 128 275,991
02 JIEtE 2 % 11,880 7,735 4,145
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20,0003 = 16Y = 5 » 123 19,200
02 M0 4,800 4,800 0
OHENMNWHI(XHEHE)
200,000& = 2¥ « 123 4,800
203 YR =&l 14,200 14,050 150
01 122 =4 6,000 6,000 0
OJEAH(42) 6,000,000& 6,000
02 It = AH| 4,600 4,450 150
OFAIAL L FXY| 4,600
O & X (100Z DI ) 40,000& = 100 4,000
OJ & (400ENHAI) 30,0003 = 209H 600
04 FNSELRZ=LH 3,600 3,600 0
©J|F X (202! 0I5t) 300,000& = 12& 3,600
g (stZacies s3I H) 58,483 54,913 3,570
WEHHX = 58,483 54,913 3,570
HEHH X = 58,483 54,913 3,570
701 JIEtSI HSEES 58,483 54,913 3,570
01 JIEtel HE &= 58,483 54,913 3,570
O+=ZIE 2l AIAA= 0lH&EIt
45,000,000& 45,000
OUES IB==THHHE 22l 13,483,000& 13,483
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He: 228 -ss&8 Jsda s (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
stAF222 JI=UII W 97,364,234 39,242,468 58,121,766
= 54,709,655
& 12,707,410
Al 29,947,169
St MRse oletd =4 97,326,404 39,204,414 58,121,990
= 54,709,655
o= 12,707,410
Al 29,909,339
22X -ssSH JFHI S 222,820 243,474 N 20,654
= 61,025
Al 161,795
I ESHSHE =& 96,270 96, 174 96
201 et 9| 52,270 52,174 96
01 AP 2t 2] H| 52,270 52,174 96
OHIEHHAHM HHESZHHANA £ DLEHZEHE
AN & SH| 17,100,000 = 33| 51,300
OHH=& st=2Hell A A3 850,000 * 13| 850
OHIES& Hell T2 HolZ2olols A 3’“/.\_|—+—
=2 120,000& = 13 120
203 &R F & 2,000 2,000 0
03 AIZH =& 2= X H| 2,000 2,000 0
OJIZEUIIEMIR =& 2,000,000& 2,000
206 M = dl 2,000 2,000 0
01 X2 H| 2,000 2,000 0
OJIMd 88 JlsZxz)d MEME
10,000& = 200 * 13 2,000
207 A3 & 40,000 40,000 0
01 Y| 40,000 40,000 0
©20218 = 24I0IA =& HAAM &H
20,000,000& * 13l 20,000
©20228 & 2AIIA HISEHAHA HSHE =
=] 20,000,000 * 13| 20,000
EFATZOIERXN JIYIt CIMEIE X3 80,520 98,750 A 18,230
= 38,010
Al 42,510
201 B9 4,500 4,750 A 250
01 AP 22| H| 4,500 4,750 A 250
OBALQIE O L AIEAN HZE
150 * 10,0000H 1,500
OEALQIE JIg E82 H&
1,000 = 2,000 2,000
OEtAIEOE AN 4 A0 TR K&
100,000& = 5% * 23| 1,000
301 et A= 76,020 94,000 A 17,980
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= 38,010
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OEAZQERN It CIHEE X2 76,020
OQIHEIE XIZ(IHel)
10,000& = 7,102l CH 71,020
= 35,510
Al 35,510
OQMEIE XIS (X)) 1,000,0008 * 5&X 5,000
= 2,500
Al 2,500
s SEAZERN 2 4,030 8,550 N4,520
= 2,015
Al 2,015
301 LEXZ 4,030 8,550 N4,520
= 2,015
Al 2,015
12IJEEd= 4,030 8,550 N 4,520
OXsx EBEAHEQER QHEE X3
45,2803 = 89K 4,030
= 2,015
Al 2,015
HIASS AT 2ATA MSHHME (AZ) 42,000 40,000 2,000
2 21,000
Al 21,000
307 glz2tol & 42,000 40,000 2,000
= 21,000
Al 21,000
02 It HAMHEE 42,000 40,000 2,000
OHIMAEIAMIE 2a0tA JHHLE T
42,000,000 = 10H 4 42,000
= 21,000
Al 21,000
HHES Holatd Jlgt =4 5,651,522 5,239,395 412,127
= 3,009,630
< 461,760
Al 2,180,132
DIMIBIR ZHDCHHE ol 2A K (ZA) 336,000 230,910 105,090
2 168,000
Al 168,000
101 @124l 336,000 230,910 105,090
= 168,000
Al 168,000
04 JIZHHZ2Z2XNHESE S 336,000 230,910 105,090
OOIMHX S DCHEHE ol 2Al e124HI(15
9, 8g) 302,400,000 302,400
= 168,000




2N
X ZH -
L= B

el

o

=

12

Zda&el2R JI=UIIH
0 OHRE toled x4
et ored olgr 24

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 134,400
0428 I8 =2 33,600,000 33,600
A2 ASAE BIAIE X XS 3,600,000 3,600,000 0
= 2,000,000
= 320,000
Al 1,280,000
402 SI2F X0l & 3,600,000 3,600,000 0
= 2,000,000
& 320,000
Al 1,280,000
02 QX2 A E X (0| & THE) 3,600,000 3,600,000 0
OATE AMYE XA &X K&
90,000,000& * 4004 & 3,600,000
= 2,000,000
= 320,000
Al 1,280,000
=2SNANSSEI| I X - 222 NIJAE 82,430 102,998 N 20,568
= 57,630
& 4,960
Al 19,840
402 SI2F X0l & 82,430 102,998 N 20,568
= 57,630
& 4,960
Al 19,840
02 BIZtXIEANYEX(0OIETH) 82,430 102,998 N 20,568
oO=2=sXAs=c3dD|J 84X - 249224 XA
82,430,000 82,430
= 57,630
= 4,960
Al 19,840
OMSA 25 AL2Eo3 24 924 1,272 A\ 348
301 et A =2 924 1,272 A\ 348
09 SHAIAHI X &2 924 1,272 A\ 348
OARE 93 29 924
O3lo EAX =4H 8,000 = 12 = 43| 384
O&& X AS HH| 45 000 * 128 * 13 540
ol & NSABHSIOEA 22l 13,400 12,095 1,305
201 et 9| 13,100 11,595 1,505
01 AP 2t 2] d| 10,100 9,595 505
o =dE HiCot0et e E=X
100,000& = 23] 200
OIILLEESE ANE M U=
1,237,500 *~ 81 A 9,900
02 232%H| 3,000 2,000 1,000




EXN: sF2A2E JIFUHII I
MM 4D WRE oEE x4
el B OOIBY JIY X4 (S5 &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OXEXH(MIIXSX) SA22H]
1,500,000 = 24 3,000
206 M = Hl 300 500 A 200
01 XHZ H| 300 500 A 200
OtA=HEH| J| XK 300
OoMsY 3,000& * 100H 300
okx 22| 100,000 0 100,000
= 70,000
Al 30,000
405 XHA&HF S HI 100,000 0 100,000
= 70,000
Al 30,000
01 XAt 2 FF S| 100,000 0 100,000
OUFHANEBEXNSHAZX (L FEZE )
00,000,000& * 1CH 100,000
= 70,000
Al 30,000
HEA &5 2 2SO G 29 1,600 1,600 0
201 et 1,600 1,600 0
01 AR 22l ] 1,600 1,600 0]
O8g9 3 EFAY 100,0008 * 8% * 23| 1,600
AAIZE DAY ROIAFEHI| 22| 105,180 89, 120 16,060
201 gEt2Ay| 105,180 89, 120 16,060
02 E22%H| 105,180 89, 120 16,060
ORUAHSHI| 2l 8,520
OHY RSB (Z2LIEHZPC) 110,0008 = 12€ 1,320
OEXNR2(=AED]) 15,0008 * 27CH = 12¥ 4,860
[OFYSPIETE=] 5,000& « 2700 ~ 12&€ 1,620
OSMSEX EXNLS (U ¢2)
60,000& = 12& 720
ORodxz=A)| A&EH KK
3,580,000 * 2704 96,660
e NsAB2LH BE2AHY 940,000 1,101,400 A 161,400
= 564,000
& 112,800
Al 263,200
402 SI2vXHE0| & 940,000 1,101,400 A 161,400
= 564,000
= 112,800
Al 263,200
02 QIZtXIE A E X (0| X THSH) 940,000 1,101,400 A 161,400
OIIEE N=sABL E2AY 940,000
ONMAES 600,0008 * 200CH 120,000
= 72,000
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AN 32222 JI=FUIIH
M 9 JiRE tolEd =4
S HEE HoIEA Jlgt &4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 24,000
Al 96,000
402 RI2EX=20| A 270,000 0 270,000
= 150,000
= 24,000
Al 96,000
02 QI EAIL EZ (01T S) 270,000 0 270,000
OEAAYY HHE W& XY
270,000, 000& 270,000
= 150,000
= 24,000
Al 96,000
OMEXZFH M6 &3 =4 91,452,062 33,721,545 57,730,517
= 51,639,000
= 12,245,650
Al 27,567,412
HFA OIASR 22 U ARk 29 4,000 4,400 A 400
201 £B-2d| 4,000 4,400 A 400
01 At 22l 4,000 4,400 A 400
OfIAs & 100,000& * 10¥ * 43| 4,000
BTN 2 207, 184 152, 141 55,043
201 LBt 151,034 152,141 A 1,107
01 At 22l 72,504 5,225 67,279
O0INMZX B2H & HAMTXEX 2 5,500
(OF=3-3— 1,000& * 3,0000H 3,000
O8 =5 50,000 * 504 2,500
OMSBHAEIHA(~3Z)ME 320& = 7,0000H 2,240
OHMIINSX STAE OI2AdUE 25
11,750& * 1,4000H 16,450
OUIILEEEHY FZ A
6,039,250& » 84 48,314
02 =224l 78,530 146,916 A 68,386
oJIegdZH 2IHI(HE) 37,090
o&IIe3 400,000& * 20H = 12& 9,600
Osdteza 130,000& = 104 = 12& 1,560
O= X Zeldl 25,930
“APE 2 (2H) 17,160,000& * 1JH 2 17,160
-QE WS (EH) 8,770,000& * 1IHA 8,770
ol 2344 2¥) 6,400
Osteza 50,0003 = 404 = 12& 2,400
s Xl 2eldl 1,000,000 * 4CH 4,000
OOIME X Zel0l dss 2EH| 8,040
O&IIe3 25,0003 * 24 + 123 600
Osde3za 10,000& = 12014 « 12& 1,440




AN 32222 JI=FUIIH
90 HRE toIEd x4
Chel: DM X 2R otds 83 24 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Os Xl 2eldl 500,000& » 1200 4 6,000
OMIILE=ZL 24l 27,000
odIIe3 200,000 * A * 128 21,600
Ostes 50,000& * 9 A * 12& 5,400
206 M= Hl 55,160 0 55,160
01 =8l 55,160 0 55,160
OMAUHZ HIILEHZE A2F WX 14,300
oXdzE 2Z(DFMCEE) 14,300, 000& 14,300
omlIea=sdY 4A2F ux 40,860
ONZ ZH % O™l 2C S
4,540,000 » 90 A& 40,860
405 TtobH S| 990 0 990
01 et ESFH S 990 0 990
OMAUZ WIIgNdZE 23 LA 990
OdrgD) 990,000& =« 1CH 990
Wlegs3ey sl 308,847 0 308,847
= 59,400
Al 249,447
201 Let24d] 308,847 0 308,847
= 59,400
Al 249,447
02 =224l 308,847 0 308,847
O Al 2eltl 34,316,330& * 9oH A 308,847
= 59,400
Al 249,447
tHoleE2el 418,080 400,080 18,000
201 LB-2E| 418,080 400,080 18,000
01 At 22l 360,000 342,000 18,000
OUIIEEML &It Xt
60,000,000& * 6CH 360,000
02 =224l 58,080 58,080 0
OloT DIMEXIZe £28 MHIARS
231,000& = 200H A = 128 55,440
OloT DM X 2| £28 SRz
11,000& » 20004 « 128 2,640
s 2 HE 71,466 51,024 20,442
201 LB-2dH| 71,466 51,024 20,442
01 At 22/l 2,120 2,828 AT708
ONSx 2SHME ¢t ¥ DXA ME 2,120
O2d e tHE 90& = 18,0000H 1,620
O2&#HMsE HEHE DKM
50,000& » 102 A 500
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

02

(o]
o

[mm

> 0K
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8 (CCTV) 2l
30,000& = 20CH = 128
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400% = 18,000
| 2,5008 = 3,600

2 AXDX

on
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HO
x
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2043 * 18,000CH » 22|

69,
45,

7,
17,

2,

18,
16,
7,
9,

7,

346
802
200
532

520

550
200
200
000

344

48,

196

MNIaoxt X (EISE)

= N W

,580,
. 790,
116,
,674,

000
000
000
000

4,800,

000

30,780,

000

402 QI2tXt=01 ™

=z N H

,580,
,790,
116,
,674,

000
000
000
000

4,800,

000

30,780,

000

= N H

,580,

,580

,790
, 116
674

000

,000

,000
,000
,000

4,800,

000

30,780,

000

MHIoix FHXR(MIAEES)

= HmnH

126

,262
72
,691

,000
,000
,800
,200

5,000,

000

11,126,

000

402 It Xt=01 ™

=z N H

126
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72
,691
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,000
,800
,200

5,000,

000

11,126,
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SX(0IETHEA)

(o]
oftEZ8 HIANsA 7 XN (LE€s2)
7

22,000,000& = 733CH

Z W

, 126
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,262
172
,691

,000

,000
,000
,800
,200

5,000,

000

11,126,

000
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000
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AN 32222 JI=FUIIH
90 HRE toIEd x4
&2 DINEXNZRE s &3 =4 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 135,000 72,000 63,000
oRAEZE HII0EX e XA
1,800,000 * 75CH 135,000
= 67,500
Al 67,500
HOIIAXE 2YH EX 480,000 396,000 84,000
=2 240,000
< 72,000
Al 168,000
402 BI2HX=201 M 480,000 396,000 84,000
=2 240,000
< 72,000
Al 168,000
02 QI EALEZ (OIS ) 480,000 396,000 84,000
OFAINAHA 2 X
12,000,000 * 40CH 480,000
= 240,000
< 72,000
Al 168,000
LPGItAXIE 2 H 22X 735,000 750,000 A 15,000
= 367,500
< 110,250
Al 257,250
402 QI2H X201 M 735,000 750,000 A 15,000
= 367,500
< 110,250
Al 257,250
02 QI EAISEZ (OIS ) 735,000 750,000 A 15,000
OUE Ol St xE LPGItA X && XI&
7,000,000& = 105CH 735,000
= 367,500
= 110,250
Al 257,250
2HLFA WEIL HZAL (ZINH XX ) 8,022,485 10,176,400 A2,153,915
= 4,800,000
< 960,000
Al 2,262,485
201 £B-2%H| 22,485 22,800 A315
01 At 22l 18,000 22,800 A 4,800
OLBZRI XY MY ARHLLE
3,000& = 6,000CH 18,000
02 =224l 4,485 0 4,485
oOfERS 4,485
Og et 400& * 8,400 3,360
OsJl 2,500& 4508 1,125
402 RIZEX201 A 8,000,000 10, 153,600 A 2,153,600




AN 32222 JI=FUIIH
90 HRE toIEd x4
Sl DIMSIX2RE QFE #Y X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 4,800,000
< 960,000
Al 2,240,000
02 U EALEZ(0IETHR) 8,000,000 10, 153,600 A 2,153,600
OL=dRA XZIIHI X&
1,600,000& * 5,000CH 8,000,000
= 4,800,000
< 960,000
Al 2,240,000
2HAR A HEILA M2 AL (2 & XIOPF) 7,600,000 7,752,000 A 152,000
= 3,800,000
< 1,140,000
Al 2,660,000
402 RI2EX=20l A 7,600,000 7,752,000 A 152,000
= 3,800,000
< 1,140,000
Al 2,660,000
02 LA TEALEZ(0IETHR) 7,600,000 7,752,000 A 152,000
OLSFZRX A M2 EX(0PF) 2= X
3,800,000& * 2,000CH 7,600,000
= 3,800,000
< 1,140,000
Al 2,660,000
SHAR HEILA M2 AL (AEIH AT WA) 1,650,000 1,402,500 247,500
= 990,000
< 198,000
Al 462,000
402 RI2EX=201 A 1,650,000 1,402,500 247,500
= 990,000
< 198,000
Al 462,000
02 U THEALEZ(0IETHR) 1,650,000 1,402,500 247,500
OALIIH AMMWH K&
16,500,000& * 100CH 1,650,000
= 990,000
< 198,000
Al 462,000
SHZFA HWEIHA M2 AL (2 & D] HIDPF) 220,000 220,000 0
= 132,000
< 26,400
Al 61,600
402 RI2EX=20l A 220,000 220,000 0
= 132,000
< 26,400
Al 61,600
02 It EAILEZ (01X S) 220,000 220,000 0
OAHLIIH HAXMZEXI(OPF) 2= X&
11,000,000& * 20CH 220,000




AN 32222 JI=FUIIH
90 HRE toIEd x4
&2 DINEXNZRE s &3 =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 132,000
= 26,400
Al 61,600
2HAR X HEIOtA M2 ALY (LPGEH S AtH) 1,000,000 920,000 80,000
= 500,000
< 150,000
Al 350,000
402 QI2HAHE01 M 1,000,000 920,000 80,000
= 500,000
< 150,000
Al 350,000
02 QI EAILS EZ (OIS ) 1,000,000 920,000 80,000
oLpGat= &t &X #& X
4,000,000& = 250CH 1,000,000
= 500,000
< 150,000
Al 350,000
HBoix RUKNA(+LSE) 18,894,000 1,625,000 17,269,000
= 12,690,000
< 1,240,800
Al 4,963,200
402 BI2FX=0| M 18,894,000 1,625,000 17,269,000
= 12,690,000
< 1,240,800
Al 4,963,200
02 QI EAIS EZ (01X THS) 18,894,000 1,625,000 17,269,000
O=2&IIX 7 XA 33,500,000& = 56404 18,894,000
= 12,690,000
< 1,240,800
Al 4,963,200
HH2IZH (22222 JIZFUID) 37,830 38,054 A 224
=& Hl 37,830 38,054 A 224
JlE&l 37,830 38,054 A 224
201 ¢4l 16,830 15,498 1,332
01 At 2t 2l 16,830 15,498 1,332
OJl=gR=8dHl (JI&dHl)
450,000& = 159 6,750
O=ZHI(J1E&HI)
8,000& = 159 = 7 » 123 10,080
202 O4dl 18,000 19,556 A 1,556
01 = LH 4 Hi 18,000 19,556 N 1,556
O=3UadatI(IIEZHl)
20,000& = 15H * 58 « 123 18,000
203 YR =&l 3,000 3,000 0
04 RENSELRZ=LH| 3,000 3,000 0




M 3222 JI=UHIIN
HH: HH2IAH(BZAC2R JIZUHIID)
el JI=23Hl
= - — -|Ll;=|
A - ER(EN) - AR - B of & o4 e
o
OJIZE A (15210l5t) 250,000& * 128 3,000




= A
N = 0 & AF S 99 N A
20228 = 20l A L BEFSIH M A
SN BFBARE VAEHDY
M ot WRE BACA HE X4
&l 365 MRE F= (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
st =2 ANFFA 42,658,983 31,387,978 11,271,005
=2 3,402,974
& 761,500
Al 38,494,509
ot HRE HEAZA HF XM 42,591,575 31,323,492 11,268,083
= 3,402,974
o= 761,500
Al 38,427,101
365 MRse HE 18,780,912 14,412,280 4,368,632
= 654,000
o 16,000
Al 18,110,912
SAZRA 22 536,382 591,541 AbB5,159
101 e1214| 417,257 491,928 ANT4 671
04 JI2ZtHI22XNSEES 417,257 491,928 ANT4 671
O&EZ22A FAUAM JIAHIZ 2N 22 417,257
[OPIR==] 84,790 x 18 » 262 x 9& 357,136
O0F2k==&f 5,290 * 189 * 222 * 9& 18,854
Q4 IJ1aeg2 41,267
-=01332 375,990,000& * 4.5% 16,920
-HAEE 375,990,000 = 3.43% 12,897
- QAL E 12,897,000& * 11.52% 1,486
-1E22E 375,990,000 = 1.65% 6,204
-MHEE 375,990,000& * 1.00% 3,760
201 2Bt Ayl 39,925 39,213 712
01 AR 22l ] 14,918 11,973 2,945
OSBZRRHMEH J=2d2AH|
225,000 ~ 12€ 2,700
OB Z2RAHEYH 8Y9AS
150,000 = 128 * 23] 3,600
OSEZ2RAHEH A & 8F)|] 34
6,698,000 = 13| 6,698
O&XLD| AdXE 40,0008 = 404 ~ 128 1,920
02 E2=2=2%H| 6,287 8,520 N2,233
OB ZBZ2RLAHEH £=4&KX |
3,151& * 1,995 6,287
03 A2 E H| 18,720 18,720 0
OStHAZLZ EAA SHAHHEAE XX 9H) 18,720
O848 5 HAESE 2,520,000 2,520
OEIZIN |2 ANB 1,800,000 = 9JH 16,200
203 €2 F&d| 4,000 4,000 0
03 AIZH =& 2 F XY 4,000 4,000 0




SN BFRRS HEIHY
HE: oD RS BECA BFE X4
&l 365 MRE F= (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONAEH o #Z22H 92 &2
4,000,000& 4,000
301 LEHZ 64,600 55,600 9,000
12 JIEBHE4 = 64,600 0 64,600
OEZSRA g MU
100,000& » 323H 32,300
OBAZLE HIXAS YIS
100,000& » 323H 32,300
303 Z& = 800 800 0
01 Z& 3 800 800 0
ORHHABLH TF
100,000& = 2% 40 & 800
405 THebH S| 9,800 0 9,800
01 AL =2 S FH S| 9,800 0 9,800
OStZERAHEH W =5 23 uA 9,800
OMEDII(HAEI] HE) 3,600,000& * 1CH 3,600
O4dg =271 200,000& =« 1CH 200
O 3,000,000 = 2CH 6,000
MEMY Il Hel 13,588,440 12,095,499 1,492,941
201 Let2d] 1,200,020 880,079 319,941
01 At 22l 67,500 68,875 A 1,375
OS2HE MDDl s 222 M
5,000& * 7,000% 35,000
O&YX EANIZ SHEHNSE REHAEAN M
50& = 5,000MICH * 10 2,500
OHAREXN HEIH M 100,000& » 20YH 2,000
OAIQI SFZ2A =2 350003 » 4% * 2003 28,000
02 =224l 1,132,520 811,204 321,316
O&HAXE GPSHZ I A& EHHIR XY
2,000,000& 2,000
OHEAXS 2| AIAE GPSHITI| A=
400,000& = 12& 4,800
OU&EHII= 2628 FXE=H|
60,000& = 12& 720
OHIIZMERES 1,125,000
(OFE = 10,000& = 150,000&€ * 50% 750,000
O 15,000& = 25,000&= 375,000
207 A RO H| 235,000 62,000 173,000
01 289 180,000 62,000 118,000
oMMy I =H2E S HFAMAH oot
HARAEA 180,000, 000& 180,000
02 & AR 2] 55,000 0 55,000




SN BFRRS HEIHY
M o) JHRE BEEAN BF 24
&l 365 MRE F= (cho &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OUEHIIE =H £ HMelAAE g <&
=) 8 HolX =5 55,000,000& 55,000
301 LEHZ 152,100 152,100 0
09 HALAHIX RS 10,000 10,000 0
OAMSEFHMY I 0171 XA
2,500,000& = 401 2 & 10,000
12243 142,100 142,100 0
O=z2& 2 SSMHM Hel2a=2 126,500
OsX4 15,000& * 2,600 39,000
(@)= PN 25,000& = 3,500 87,500
O2doteA 2el &R0/ 2Z
20,0003 = 13J0H * 5 * 128 15,600
307 glz2tol & 12,001,320 11,001,320 1,000,000
05 RIZHRI &3 12,001,320 11,001,320 1,000,000
OMEHIIE +H2Y HHL4E
12,000,000, 000& 12,000,000
OHASI ~F28 Ha+4+2
110,000& * 128 1,320
Mol BSEH S5 ME 2 2= 2,816,090 1,725,240 1,090,850
206 M= Hl 2,815,090 1,724,240 1,090,850
01 =8l 2,815,090 1,724,240 1,090,850
oXrHIIEEM #ASE M 2,815,090
Ogers 2,516,450
-52lH S 108 1,700,150, 000& 1,700,150
-MHAFE (102181 S 38) 816,300,000 816,300
O=38 166,400
=502l s 38 166,400, 000& 166,400
ORzX=g(202H) 131,100, 000& 131,100
OFYX 228 (202H) 1,140,000 1,140
301 LEAF 1,000 1,000 0
12 J|EtE 4= 1,000 1,000 0
OS8HRA=SE RS &1 B&=
500,000& * 23| 1,000
HHNMAXNSI ESAY 640,000 0 640,000
= 54,000
< 16,000
Al 570,000
405 XH&HE S 1 640,000 0 640,000
= 54,000
< 16,000
Al 570,000
01 AL EFH S 640,000 0 640,000




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAINAL HAX(LFEM)
160,000,000 * 4CH 640,000
= 54,000
< 16,000
Al 570,000
S Z2THHIASH X M2 AL 1,200,000 0 1,200,000
= 600,000
Al 600,000
405 XHoHF S HI 1,200,000 0 1,200,000
= 600,000
Al 600,000
01 et ESFH S 1,200,000 0 1,200,000
OL-HHAX 300,000,000& * 4CH 1,200,000
= 600,000
Al 600,000
HXIE d&=8 Jlgtxy 13,155,939 12,096, 149 1,059,790
= 148,974
< 134,500
Al 12,872,465
SASF HJIS Mel & 2 10,810,569 9,916,822 893,747
201 L4l 349,619 358,822 A 9,203
01 At 22l 94,600 114,080 219,480
OSAESRHIIZE MHel==2 HRES R
33& = 2,000,0000H 66,000
OSAMEZEEN S 822 MH
3,000& = 9,0000H 27,000
OSASRHIIZS LHAM SUEIHAAE &
R 100,000& = 8H =« 23| 1,600
02 =224l 255,019 244,742 10,277
ORFID HEAZEHl FXEHI
1,700,000& = 1,340CH * 8% 182,240
ORFID JHE A ZEHl S4lbl
4,526@ = 1,34000 ~ 12& 72,779
207 A O] 35,000 0 35,000
01 289 35,000 0 35,000
OSASHIIE =28 HHEH JAIteE o
E2A 35,000,000& 35,000
301 LEHZ 88,200 78,000 10,200
12 JIEtE &3 88,200 78,000 10,200
OZEZY SASEHIIE Hela42 40
H 24z 1,0008 *« 147,000MICH * 5% = 123 88,200
307 glz2tol & 10,267,750 9,410,000 857,750
05 RIZHRI & 3 10,267,750 9,410,000 857,750
OSAZSEHIIE 2T UAUBS2T
131,750& = 200&€ * 3652 9,617,750




SN

3
B oD HRE BETA
K =]

e
R HAY d=8 J|gXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OSAESH QU2ZREHelx=£2 650,000,000 650,000
402 SI2F 20| & 70,000 70,000 0
01 It E AL EXR (M) 70,000 70,000 0
OSAZSMY D KM AEEID XNEAMH(IHER)
875,000 = 100CH = 80% 70,000
MeE 848352 13283 AMEAA 1,113,866 1,100,687 13,179
201 LBt Y| 67,280 72,101 N4,821
01 AP 22| d| 64,640 72,101 AT ,461
OHFAMEBEEAES 925 a2
100,000& * 14 * 23| 2,800
OOOIAT THAIE AS£TSY 8
830,000& * 2& * 12& 19,920
OO0l AE THAISAY &9 H&
50,0008 * 4404 X 2,200
oOMeE2IIsild 2FHHE &2 842 X
70,000 * 480 A * 23] 6,720
oOMEEIIsKE ERHIE2 EE2 M
1,000 = 30,0000H 30,000
oOMEEZE EFHzE 222 22
600 = 5,0000H 3,000
02 22244l 2,640 0 2,640
OFEFTA MHESHE JAOE KSXEB4H|
2,640,000 2,640
206 M = H| 32,000 32,000 0
01 X2 Hl 32,000 32,000 0
OHEZSE HNEX =HE
300,000& = 40052 = 1000 £ 12,000
OFUNY WEE +)8
1,000,000 * 2000 A&~ 20,000
207 I | 22,000 0 22,000
02 & AHJH Y| 22,000 0 22,000
OFFAl ME=2HEH HFAMOE 2H
22,000,000 22,000
301 et A= 17,272 17,272 0
09 HAIAHI X &2 272 272 0
OFHFA MESZ=XES M=
8,0008 = 17& x 23| 272
12 JIEtE2 A= 17,000 17,000 0
oMEEsE =& 22X ZA 17,000
Ostn (60 1) 3,300
-5 1,000,000 * 1012 1,000
- 700,0008 = 20 1,400
-2 300,000 = 3041 900




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ2==8 (271 A) 13,700
X R 1,000,000& * 400 2 4,000
-2 700,000& » 7002 4,900
- e 300,000& 1600 4 4,800
307 21201 A 975,314 969,314 6,000
04 DIZHHALALSE E X 14,114 14,114 0
OOtLIEICH Lhs & H 14,114,000 14,114
05 RIZt2E = 961,200 955,200 6,000
O300AItH 012 SS= HHY - 222X
It =2 403,200,000& 403,200
Oz HUHEXe g2
558,000,000& 558,000
SEHHE =HE2H =2 440,000 440,000 0
= 40,000
= 80,000
Al 320,000
301 LEXZ 440,000 440,000 0
= 40,000
= 80,000
Al 320,000
12 JEE2d= 440,000 440,000 0
OsZEHHYEYE =HEY 110,000& * 4,000& 440,000
= 40,000
< 80,000
Al 320,000
SE SAEYE =) 11,440 11,440 0
301 LA S 11,440 11,440 0
12JIEBE243 11,440 11,440 0
Os2dBE ) B4z 11,440
ORelg 120& = 2,000kg 240
Osctag 320& = 35,000kg 11,200
SAZRHIIS HEHZI SIAL 15,000 123,200 108,200
401 AIEHIZ 28I 15,000 123,200 A108,200
01 A& HI 15,000 123,200 108,200
OSASEHIIS MHEHSI NS A
250,000 * 60CH 15,000
SAUUY =018 XK 15,000 15,000 0
< 4,500
Al 10,500
206 M= Hl 15,000 15,000 0
< 4,500
Al 10,500
01 MHZ 4l 15,000 15,000 0




SN

3
B oD HRE BETA
K =]

e
Sl HXE dad JluEs (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=2AdBlH=IE XA
500,000&  300H & 15,000
= 4,500
Al 10,500
Ss&oty X3 29,914 25,000 4,914
= 8,974
Al 20,940
401 Al HI K 201 I 29,914 25,000 4,914
= 8,974
Al 20,940
01 A& HI 29,914 25,000 4,914
OsZHHE 3sdotE &1 29,914,000& 29,914
= 8,974
Al 20,940
EFA MEEAMLEEH 22 520,150 464,000 56,150
307 glz2+ol & 495,000 450,000 45,000
05 RIZt2E = 495,000 450,000 45,000
OMEEANLUHE 222 A&
495,000,000& 495,000
401 A& HIZ 201 I 22,000 10,000 12,000
01 A& HI 22,000 10,000 12,000
OMESAIRHEH Al 22 22,000,000& 22,000
405 TtHakF S| 3,150 4,000 A 850
01 et EFH S 3,150 4,000 A 850
OMEgns =T 23 23 2,300
OM=E 460,000& = 504 2,300
OXE=g=H Il XM 850
OADIA=D| 850,000& « 1CH 850
18182 2= W2 AIUIOH BH&D] 200,000 0 200,000
= 100,000
< 50,000
Al 50,000
301 LPEAS 200,000 0 200,000
= 100,000
< 50,000
Al 50,000
12 JIEtE4 3 200,000 0 200,000
O18 83 gl= olZAlUlot e=2I
200,000, 000& 200,000
= 100,000
= 50,000
Al 50,000
HFs HolS2el 15,870 19,021 A3,151
HIIS2X2 AL & 2el 15,870 19,021 A 3,151




SN BFBARE VAEHDY
HE: oD RS BECA BFE X4
Ee: MYES HoIS2el (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 15,870 17,904 N2,034
01 AP 22| H| 11,570 13,604 N2,034
OHIIZE N=HE2ZANA M2
8,000 * 52 * 68 240
OZHTY(HIISBY HRSMHN)
100,000& * 1= 100
O=ZYH M HIIZ Xl
300,0008 = 10 3,000
O=SYMEHI S 2=&H =
400,000€ * 14 400
OHJIE 4E=4 A=++E
300,000& * 63| 1,800
OHJIZ2 2AXel g M2
4,000& = 1,0008 4,000
OHIISEHM NEEZE L= 2,030
ogg9= 190,000& = 7H 1,330
oedst 100,000 * 79 700
02 Z2=2=24%4| 4,300 4,300 0
oz Xe |A22dl 4,300,000 4,300
HII2 H2lAeE &= 10,638,854 4,796,042 5,842,812
= 2,600,000
o= 611,000
Al 7,427,854
HEA M220HEH XHALY 9,388,000 3,618,900 5,769, 100
= 2,600,000
= 611,000
Al 6,177,000
403 XX SRS K20 & 9,388,000 3,618,900 5,769, 100
= 2,600,000
& 611,000
Al 6,177,000
02 2| 2SO Uet 2= EAIS Y 9,388,000 3,618,900 5,769, 100
OFFAl H20HE & ZAAIE 9,388,000,000& 9,388,000
= 2,600,000
& 611,000
Al 6,177,000
AN 2AEAEESH OIS FoU=2AAIS 1,250,854 1,177,142 73,712
201 gEt2Ad| 12,421 11,558 863
01 AFR2 22| H| 9,350 8,360 990
ONM2ME A L FO=2AAIH Al X
x| 850,000 = 1CH » 112 9,350
02 2224 4| 3,071 3,198 AN127
ONM2ME A L FO0=2AAIY A XNHtR
S 1,599& * 84 = 240Y 3,071
401 AlEHIZL 2 0HY| 1,238,433 1,165,584 72,849




SN

3
M oD JHRE BEEA

Selr HIIZE MelAd &5 fEH)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 A& HI 1,234,149 1,161,552 72,597
ST 70,000,000& 70,000
OHdlotess 70,000,000& 70,000
©O=+2°/138 70,000,000& 70,000
O+=2143 70,000,000& 70,000
ON 26 70,000,000& 70,000
OFIFSEIS 70,000,000& 70,000
OXs15s 70,000,000& 70,000
OXls 163 70,000,000& 70,000
OME18S 70,000,000& 70,000
O& =283 70,000,000& 70,000
Otlst21s 70,000,000& 70,000
oa=1el 70,000,000& 70,000
©&=3el 70,000,000& 70,000
ostd el 70,000,000& 70,000
ostd2el 70,000,000& 70,000
O Ateliel 70,000,000& 70,000
O Atel2e] 70,000,000& 70,000
OFA7E S 17MA FCU=SJAY AANLEAES
=2 1,190,000,000& * 3.71% 44,149
03 AIE2 2 THHI 4,284 4,032 252
OFY7E S 17TMHA FCU=JAYE ANLRUH|
1,190,000,000& =* 0.36% 4,284
BHS AP (BF 22 HAZHUD) 67,408 64,486 2,922
Jl2&dl 67,408 64,486 2,922
o=l 67,408 64,486 2,922
201 Let24E] 28,408 27,358 1,050
01 AFR2teltl 26,928 26,248 680
OJl=zgde=dasdH(JIE3Hl)
450,000& = 244Y 10,800
O34 (JI=3Hl)
8,000& * 24 * 7 123 16,128
02 2324l 1,480 1,110 370
O A& &EHls X bl 1,480
OLNBEF A 15,000,000 = 1CH = 8% 1,200
O&EX=F A 3,500,000 * 1CH * 8% 280
202 o4 Hl 34,800 32,928 1,872
01 S LHOIYI 22,800 18,528 4,272
O=LoIH (O1=ZHl)
20,000% = 199 » 52 « 128 22,800
02 M0 12,000 14,400 A 2,400
OFAUNHI(HIISXEZE) 12,000
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N = 0l & At & Ml A
20223 = =0 &b LS &H

2N BESL BABD

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZzze28 M2l 30,586,909 27,675,713 2,911,196
< 105,000
Al 30,481,909
HOI2S NUJsdle &Ed3 ANd2d 24,394,460 21,927,794 2,466,666
< 105,000
Al 24,289,460
=010] QtAlGt=E HIOI2 MelAl&d 23,720,145 21,285,479 2,434,666
< 105,000
Al 23,615,145
FFHATIGLA2AALE &2 11,306,000 8,243,800 3,062,200
307 21201 A 8,970,000 6,636,000 2,334,000
05 RIZt2IEt = 8,970,000 6,636,000 2,334,000
OME(HE)HIIE fIEXH™l 8,970,000,000& 8,970,000
401 Al HIZ 201 2,336,000 1,405,000 931,000
01 A& Hl 2,336,000 1,405,000 931,000
OAZAE IIQYEE MZ&HI(SCR) WAl 2,336,000
O3 AtH| 2,286,000,000& 2,286,000
O& A& 50,000, 000& 50,000
ZEE HEE 2822 1,023,469 1,148,503 A 125,034
201 Zer24E] 228,789 202,523 26,266
01 At 2t 2l 122,324 119,680 2,644
OMZE SF2ETZA =2 75,510
omAMYE BE4
340,000& * 1A « 123 4,080
OZAWYR () Y&+
340,000& * 1A « 12& 4,080
OZ9lEd Xot+= BAME & Hik=
170,000& * 44 x 42 0| 2,720
OBAWYE =¥ Xste LAH(MESS)
140,000 * 1A x 42 0| 560
OZAMEE =HOt2 Kot ZAH(ESE=)
270,000& * 174 x 42 0| 18,360
OMSZ2MWYE 854 « Hels
340,000& * 44 x 42| 5,440
OMESSSMHEH Xotx= ZAHE & HHAM =
140,000 » 11004 x 42 0| 6,160
ONEZEHYH FH 542 2 das
350,000& * 44 » 2&2 0| 2,800
OMSZ2MYE =¥ s+ (4e82)
140,000 * 20 A& x 42 0| 1,120
OZYlEgd &=+ 0522 =8 Kot
170,000& * 400 = 23] 1,360
OZCMed H== Xot=
270,000 * 12 = 23] 540




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMSZZMNEE FH 2& 4% E2H
At 1,150,000& * 12004 * 13l 13,800
ONEZSZMHEE MHEIHA ZA
65,0003 * 6JH 4 * 13l 3,990
OANEZSZMHEE XIEtHE T Z A
3,500,000& = 34 = 13l 10,500
ONEH HIIS d43AM =2
2,200,000& = 43| 8,800
ONEH &+ ==EX M
2,000,000& = 43| 8,000
OMEE HEIRX Alx 7Y
6,600& * 188 = 128 1,426
OS+UL I (SLAIL)
8,000& = 1098 = 8¢ » 103 6,400
O&JletdM e e === 350,000& = 12& 4,200
ogaitAm 2 60,0003 * 402 A 2,400
ONYZ 2g9&2E I Xz
880,000& = 104 » 123 10,560
oOd3EXN 7Y 468
O2JHEEX 24,0003 ~ 123 288
OFAMFEX 90,000 » 2@ 180
ORAUBHIANAH =2 4,560
OZY M & 200,000& = 12& 2,400
OMEA 180,000& * 12& 2,160
02 2324l 106,465 82,843 23,622
OZAMEE HIIR=S 25,098
OPIE-3 3=, 12,768
-2 BrE (2) 11 DA
8,230 * 73KW * 1A * 128 7,210
-~ () 1D 2A
7,470 * A7KW = 1O + 128 1,524
~MAE(2) DA
74703 * 45KW = 1OH A = 128 4,034
OFSE=R=3°4=, 12,330
-2 ErE (2) 11D 2A
1353 * 4,000KW » 1A » 1228 6,480
“MAE () I D2A
90& * 3,500KW = 1JHZA = 123 3,780
—MAE(2) DA
115& + 1,500KWH = 1JHA » 128 2,070
OZZMHEE HIIRS 947
OJlegs 431
-FEEMA 910F x 15KW » 1IHA « 122 164
- E(2)Me
5,550 * 4KW = 1A « 123 267
OdEge=s 516




SN BAVUARE HEBRD
HE: K22 NESGs ABF ALY
9l FOI0| QAGHE HIIS XelAld (B9 ®R)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 %Ei Hwsz
“Felga= 93d + 200K * 1A » 128 224
~YE ()N Y
812 * 300KN * 104 » 128 292
OSYNYY BE4HI I3 1,573
oJees 1,466
-~ Y ()Y
55502 * 22K * 1HA * 122 1,466
SLEHI-E 107
~YE ()N Y
812 * T10KW * 1944 * 122 107
ORSIAH 22 HA 1,412
ougss 660,000% * 1CH * 13| 660
OFS-1- ! 26,0008 * 20§ * 13l 52
OUESS(8.58)  120,0008 * 10 * 13] 120
Ougse(ABE)
220,000& = 1CH = 13 220
O I (158) 180,0002! * 2CH 13l 360
OBANL 2L (ME) 540
OFS-1-1- 80,0008 * 1C§ * 23] 160
OUESS(8.562)  190,0008 * 104 * 23] 380
ONYRH2(MY,58) 3,090
ougss 516,000 * 10 * 13| 516
OFS-1-1- 340,0008 * 204 * 18] 680
s 2(58) 500,008 * 1CH * 13| 500
OUESS(8.58) 5000008 * 10 * 13] 500
ougse(ABE)
894,000% * 10 * 13| 894
OEFY 282 2,000
024 S 55 400,00020 = 5CH * 13l 2,000
OEFYl |X 2 15,000
ozlgz 2,500,008 * 2Cf 5,000
OELP] 5,000,008 * 1k 5,000
OgcH 5,000,008 * 1CH 5,000
OxY L EZY AA 242 483
Oxt g 60,0008 * 4CH * 13l 240
OE=| 48,5008 * 504 * 13] 243
OBUISE 1,3978 * 1,5000 * 128 25, 146
O Xl Bt bl 27,600
Os 8%t 4,900,008 * 1k 4,900
Ost2xt 4,300,000& * 5CH 21,500
OMESHR 2L HIE)
10,0002 * 1CH * 128 1,200
oIl 2l 50,0008 * 5C4 250
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oO=ge&ds ot 30,000,000& 30,000
307 21201 A 3,690,000 3,990,000 A 300,000
05 RIZt2IE = 3,690,000 3,990,000 A300,000
oOMgES HEAIE 2¥Hl  3,690,000,000& 3,690,000
401 Al IR 201 I 100,000 100,000 0
01 A& Bl 100,000 100,000 0
OMEES H8AIE KXl
100,000, 000& 100,000
SAERHIIZ XNJSFAE 2F 7,312,636 7,576,988 A 264,352
207 A RO H] 43,000 0 43,000
01 A3l 43,000 0 43,000
OHJIESXelAE ?E 29 e EEd
43,000,000& 43,000
307 21201 A 6,957,636 6,754,988 202,648
05 RIZt2lEt = 6,957,636 6,754,988 202,648
OSAMESFTHIIZ AESAE AE S
3,654,991,000& 3,654,991
ORIILHIIZS HWUXSAIE AS2EHI
3,302,645,000& 3,302,645
401 AIEHI L 2 CHYI 312,000 822,000 A510,000
01 A& HI 312,000 822,000 A510,000
OSASRHIIS NISFAE EHEEI] WA 124,800
O3 Atdl 120,000, 000& 120,000
O& A& A HI 4,800,000 4,800
OSASFHIIS ANIIAIE 2XHTIHAD] WA 187,200
O3 Atd| 180,000, 000& 180,000
O& A& AHI 7,200,000& 7,200
E3UUXE=2 22 48,040 52,688 N4,648
201 €24 13,200 18,000 A 4,800
02 =224l 13,200 18,000 A 4,800
OXEZUURXER MRS
1,100,000& » 1A « 123 13,200
206 M= Hl 4,840 4,688 152
01 M= 4l 4,840 4,688 152
OZSZUUXES S=Ad 22 &2
A+ TH 4,840,000 4,840
401 AIEHI L 201 30,000 30,000 0
01 A& Hl 30,000 30,000 0
OZSZUUXES SHH2AE 2
30,000,000& 30,000
A2TAE 1ED] I8 S| FZEHE SA 210,000 0 210,000




gZzzel28 Aazelu
HII22 Natcts &ad ANE2g
=010l etalotE HIJIS XMelAlE )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 705,000
Al 105,000
401 Al HIZ 201 I 210,000 210,000
< 105,000
Al 105,000
01 A& HI 210,000 210,000
O22ANE 13D HII28 §2I #2HZE ZA 210,000
O3 AH| 200,000, 000& 200,000
< 100,000
Al 100,000
O& A€ A bl 10,000, 000& 10,000
= 5,000
Al 5,000
=UXEEAM 29 674,315 32,000
FAA2AE FRXKEAN 2SS XA 326,090 12,740
301 LEEAZ 326,090 12,740
12 JIE2 4= 326,090 12,740
OFFA ZAL2ANE FUZTANRA =29 326,090
OL2tAE FRUZARA 2F2Y 293,838
-JleEs 144,4813 » 5% = 222 = 12& 190,715
FE(ERSEINE
144,481& » 5% » 642 46,234
AN2RZ2e=g
18,060& * 150% = 5% = 35AI2t » 12& 56,889
OC4EE JI22E3 32,252
=03 293,838,000& * 4.5% 13,223
-HAEE 293,838,000& * 3.43% 10,079
B3I LEE 10,079,000& * 11.52% 1,162
-IEEHE 293,838,000& * 1.65% 4,849
“MTHEE 293,838,000& * 1.00% 2,939
ZAMEEy F=UXNEAN 22X 348,225 19,260
201 LBt 2t 2,400 2,400
01 At 22l 2,400 2,400
O S=2sSHAARZS &
100,000& = 6 « 43 2,400
301 LEHZ 345,825 16,860
12IJEEd=S 345,825 16,860
OFFH ZIAMEE FUZANRE 29 343,735
OUEE FCUZANA 12Y 309,738
-JEs 73,280 * 11H * 222 * 123 212,806
FR(ERSEFIN=+E
73,280 * 1% = 64 51,590




cl=8 X 2el
£ M&sloles &&3 NE2dE
AN 29

HE - B (3H) - KISAY - BYS il HImEET
S EEEEES=
9,160& » 150% » 11H * 25A12t = 12&8 45,342
C42E J12=243 33,997
-=22AHZ 309,738,000& * 4.5% 13,939
—2ALL2E 309,738,000& * 3.43% 10,625
“HIIRLEE 10,625,000 * 11.52% 1,224
-1ESE 309,738,000& * 1.65% 5,111
—MHEE 309,738,000& * 1.00% 3,008
OFZARI I=4l 190,000& * 11 2,090
L H(gtZ 228 Hzel) 614,129 744,019 A 129,890
]l 564,118 695,935 A 131,817
564,118 695,935 A 131,817
jellal=] 502,800 695,935 A 193,135
ZER(LIIHA)22RES 502,800 695,935 193,135
CEE R 502,800
Pl 207,801
29 01 A4~301 0] Ot
2,635,460% * 3H * 123 94,877
-194 0] &~20 0 &t
2,352,570% * 4%¥ * 123 112,924
Oa0= 119,932
Il 2,855,500 * 7Y x 43 * 50% 39,977
29  2,855,500& * 7 * 23| * 50% 19,989
M= S
2,855,500& * 7 = 68 * 50% 59,966
OdH+¢ 98,955
~S4R BAR 4Y
90,000& = 7% = 12& 7,560
&Y Heaxg 70,0008 = 7 = 128 5,880
-2t 3 130,000& » 78 = 12& 10,920
-IExg 100,000& = 7 = 128 8,400
-ganesy
157,605& » 7H » 5% 128 66,195
O=cl=4Hl 36,072
-Z g A 140,000& » 7€ = 12 11,760
-gZ S0l
2,894,220& = 60% » 7H * 23] 24,312
O=d=TXl 13,320
-9 &l 80,000 = 7% = 12& 6,720
-FExg 50,000& = 78 « 123 4,200
R R 200,000& = 1% = 12& 2,400
OAXtsa2F/It=Y 165,9060& + 7H » 23¢ 26,720
303 Z& = 6,224 0 6,224
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SA: BABRER GRBRAL
HaM: 2P H (#F 228 22 W)
ch: JI24dd| (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Ogst 4009 *~ 50= 20
OS2Il 2,500& * 100= 250
OAHOISTV =d = 15,000 = 304 ~ 12€ 540
202 o4l 16,800 20, 160 A 3,360
01 2Ll 16,800 20,160 A 3,360
O=2WAdl (21=Hdl)
20,000 = 14 = 52 * 12& 16,800
203 € R F&d| 3,600 3,600 0
04 EASHEIRFAH| 3,600 3,600 0
©J| =M (20210|5t) 300,000& * 12& 3,600
HEEsSs (a2 F 22 ) 5,578,320 5,003,900 574,420
WEAHAH XK= 5,578,320 5,003,900 574,420
LHEAHH K= 5,578,320 5,003,900 574,420
702 12852 5,578,320 5,003,900 574,420
M os2EE2 5,578,320 5,003,900 574,420
OZEHIISMWEHE FHASXSE F0X3 I
= 3,440,700,000& 3,440,700
OHFH ZHAAANL FHIFNNY FOUX S
2 2,037,720,000& 2,037,720
OSASFHIISHEALE A0S &2

99,900, 000& 99,900




N = 0l & At & Ml A

20223 = =0 &b LS &H

SN BHBISR GEFHD

M Xote 2el
@ Xot= 25 22| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZ2e| 2% ot M 6,428,470 7,115,633 A 687,163
< 2,100
Al 6,426,370
XIgk= 2t 71,900 10,197 61,703
< 2,100
Al 69,800
Xot= B3 &2 71,900 10,197 61,703
< 2,100
Al 69,800
At A8 2 2el 11,400 10,197 1,203
201 Let24E] 11,400 5,197 6,203
01 At 22l 1,400 1,197 203
OXlot=0lERE= BUE IXA
70,000& * 208t A 1,400
02 23=2gl 10,000 4,000 6,000
OX=F XY Xot= EX2A=L X2
2,500,000 = 404 A 10,000
Aot X3 &= XNIAY 10,500 0 10,500
< 2,100
Al 8,400
301 LA S 500 0 500
< 100
Al 400
12JIEE43 500 0 500
OXlote &XS I MOEH=
100,000& * 5 A 500
< 100
Al 400
401 Al HIZ 201 8] 10,000 0 10,000
< 2,000
Al 8,000
01 A& HI 10,000 0 10,000
OXot= &XS Aad=+2
2,000,000 = 50 A 10,000
< 2,000
Al 8,000
=EXot= 22 ElE€d ¥ J=AHE Y 50,000 0 50,000
207 ROl 50,000 0 50,000
01 289 50,000 0 50,000
OR=Xdl>= &8 B4 2 JI=2dHE 89
50,000,000& 50,000
HY2FZH (HZ 2428 =) 16,032 17,588 AN 1,556
ol 2 gl 16,032 17,588 A 1,556
JlE&l 16,032 17,588 A 1,556




SN BZBRALE AU
HE: HWRARY (BFRZR GHEBHD)
chel: ol 2y (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 6,732 6,848 A 116
01 At 22l 6,732 6,848 A 116
OJlege=adZl 450,000& * 64 2,700
CEELIE/ka=1-1p)
8,000& = 6F * 7 123 4,032
202 oddl 7,200 8,640 A 1,440
01 = LH o4 1l 7,200 8,640 A1,440
O=UWAHI(JIEZHl)
20,000& = 6F * 5 * 123 7,200
203 YR =&l 2,100 2,100 0
04 FN2ELRZ=TH| 2,100 2,100 0
O©J| &= (1021 0l5t) 175,000& » 12&8 2,100
HWees(sgdzee? ot 1) 6,340,538 7,087,848 AT747,310
WEAHAXE(SHERGI=H2E2Y) 4,500,000 7,000,000 22,500,000
SHHGtsXNelE2E 283 4,500,000 7,000,000 A 2,500,000
701 JIEtSI HETES 4,500,000 7,000,000 A 2,500,000
02 BIISELEIHZILNES 4,500,000 7,000,000 A 2,500,000
osgHRotl=M2E2E 4,500,000,000& 4,500,000
HEHHKE 1,840,538 87,848 1,752,690
JIEISE3lHNEES 1,840,538 87,848 1,752,690
701 JIEtSI HEHES 1,840,538 87,848 1,752,690
01 JIEtSIHE &3 1,814,690 62,000 1,752,690
Os0HE0tSot=& HHIALE  1,264,000,000& 1,264,000
oHE22g A 22| 450,690,000 450,690
ONES0IEAE XA 100,000, 000& 100,000
02 BILELHINEES 25,848 25,848 0
OXct=2H & ==2 25,848
OsXe(a+E BE3X9)
8403 = 6004 » 123 6,048
OsXd (&= 0I122Xd)
1,000& = 1204 = 12& 1,440
OSHNA (4= BE=SXH)
900& = 2004 = 12& 2,160
O8HINZ (4% IIESXH)
1,500& = 9004 = 12& 16,200




N = 0l & At & Ml A

20229 &= = 0lat LB &
AN 32222 St=Helt
M StHelAd 2922
CHel WAOIERLHEAY 2gRe CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZ2e| 2% oSt=Helt 2,545,211 0 2,545,211
Ste=XMelAd 22l 2,545,211 0 2,545,211
WIS MelAlE 2322 2,545,211 0 2,545,211
WIS MelAld 2322 2,545,211 0 2,545,211
207 RO 5,000 0 5,000
01 A3 29| 5,000 0 5,000
OUWFIIEEMlAIE 2elid JAMeE 2
S 5,000,000 * 104 5,000
307 glz2+0ol & 2,390,500 0 2,390,500
05 RIZtE = 2,390,500 0 2,390,500
OU=II==2=XclAld 2c|tHaidl
2,390,500,000& = 1JH A 2,390,500
401 Al HIZ 2018 149,711 0 149,711
01 A& HI 149,711 0 149,711
ON=E2aMeAlE SN2l 20,000,000& 20,000
ONEEZ=HelAld Jl=rc
62,576,000 * 1JH A 62,576
ONEEZXMelAE AdFHI =2
31,243,000& » 1JH 4 31,243
OU=JIJIEE=XMelAld |dEI =4
17,500,000& = 10K 17,500

OURIIZEEHeANE LELMEX >
18, Z

392,000& * 1CH 18,392




